Methyl lodide
Response Ratio

1.6+

1.4+

0 0.5 1 1.5 2 2.5
Amount Ratio

Resp Ratio = 5.66e-001 * Amt - 2.08e-002
Coef of Det (r"2) = 0.998 Curve Fit: Linear
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Tert butyl alcohol
Response Ratio

0.4+

Amount Ratio

Resp Ratio = 2.48e-002 * Amt + 5.80e-003
Coef of Det (r"2) = 0.998 Curve Fit: Linear
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Methylene Chloride

Response Ratio

0 0.5 1 1.5 2 2.5
Amount Ratio

Resp Ratio = 4.73e-001 * Amt + 5.76e-002
Coef of Det (r"2) = 0.998 Curve Fit: Linear

Method Name: Z:\VOASRV\HPCHEM1\MSVOA_D\METHOD\82D062620S .M
Calibration Table Last Updated: Fri Jun 26 19:16:07 2020




	MSDA Print.pdf
	MSDA Print0001.pdf
	MSDA Print0002.pdf

